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2P + 1 = 2(510510n + 17009) + 1 = 1021020n + 34018 + 1 = 1021020n + 34019
0000010210200 20 2003,5,7,11,13,17000000 1000000
34019 = 34019 x 1
0000 10210200000000000000
2P + 1 = 510510m + 34019

gooboobooobooboboobboobboobuooobooo

Q=170110000
P = 510510n + 17011

2P + 1 =2(510510n + 17011) 4+ 1 = 1021020n + 34022 4+ 1 = 1021020n + 34023

0000010210200 20 2003,5,7,11,13,17000000 10000000

34023 =3 x 11 x 1031 x 1

oooo
2P + 1 = 33(30940n + 1031)

obooboooo33booooboooooobooobooboobooboboooobOoobOoo
good
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